
SSC CHSL Practice Quiz 

General Awareness  
Q1. Who is known as the 'Father of the Nation' in India? 

a) Jawaharlal Nehru 

b) Sardar Patel 

c) Mahatma Gandhi 

d) Subhash Chandra Bose 

Answer: c) Mahatma Gandhi 

 

Q2. Which of the following is the capital of Canada? 

a) Vancouver 

b) Toronto 

c) Ottawa 

d) Montreal 

Answer: c) Ottawa 

 

Q3. The Indian Parliament consists of which two Houses? 

a) Lok Sabha and Rajya Sabha 

b) Lok Sabha and Vidhan Sabha 

c) Rajya Sabha and Vidhan Sabha 

d) Lok Sabha and Legislative Assembly 

Answer: a) Lok Sabha and Rajya Sabha 

 

Q4. Who was the first woman Prime Minister of India? 

a) Indira Gandhi 

b) Sarojini Naidu 



c) Pratibha Patil 

d) Sushma Swaraj 

Answer: a) Indira Gandhi 

 

Q5. Which country is the largest producer of coffee in the world? 

a) Colombia 

b) India 

c) Brazil 

d) Vietnam 

Answer: c) Brazil 

 

General Intelligence  
Q6. Which number should replace the question mark? 3, 9, 27, ?, 243 

a) 45 

b) 81 

c) 64 

d) 72 

Answer: b) 81 

 

Q7. In a certain code language, 'HAPPY' is written as 'IQQZC'. How will 'MOTHER' be written 

in the same code? 

a) NPVGI 

b) NQWGI 

c) NQVGI 

d) NQWGH 

Answer: a) NPVGI 

 

Q8. Find the odd one out: 8, 15, 24, 35, 48, 63 



a) 24 

b) 15 

c) 48 

d) 63 

Answer: a) 24 

 

Q9. What will be the next number in the series? 4, 8, 16, 32, ? 

a) 64 

b) 40 

c) 48 

d) 128 

Answer: a) 64 

 

Q10. If a person is facing east, and he turns 45° to his right, which direction will he be facing 

now? 

a) South-East 

b) North-East 

c) South 

d) West 

Answer: a) South-East 

 

Quantitative Aptitude  
Q11. What is the area of a triangle with base 12 cm and height 8 cm? 

a) 24 cm² 

b) 48 cm² 

c) 96 cm² 

d) 56 cm² 



Answer: a) 24 cm² 

 

Q12. A train travels 200 km in 4 hours. What is its average speed? 

a) 40 km/h 

b) 50 km/h 

c) 60 km/h 

d) 70 km/h 

Answer: b) 50 km/h 

 

Q13. The sum of two numbers is 25, and their difference is 5. What are the two numbers? 

a) 15 and 10 

b) 20 and 5 

c) 18 and 7 

d) 12 and 13 

Answer: a) 15 and 10 

 

Q14. A man sold an item for Rs. 500 with a profit of 25%. What was the cost price? 

a) Rs. 400 

b) Rs. 450 

c) Rs. 350 

d) Rs. 375 

Answer: a) Rs. 400 

 

Q15. What is the value of x in the equation 2x + 3 = 11? 

a) 5 

b) 4 

c) 6 

d) 7 



Answer: b) 4 

 

English Language  
Q16. Choose the synonym of 'VIGOROUS': 

a) Weak 

b) Active 

c) Lazy 

d) Tired 

Answer: b) Active 

 

Q17. Which of the following is correct? 

a) She don’t like tea. 

b) She doesn’t like tea. 

c) She not like tea. 

d) She does not liking tea. 

Answer: b) She doesn’t like tea. 

 

Q18. Find the error in the sentence: 'He has written a beautiful letter to her.' 

a) He 

b) has 

c) written 

d) letter 

Answer: d) letter 

 

Q19. Choose the word that best completes the sentence: 'The book is ______ the table.' 

a) under 

b) on 



c) in 

d) between 

Answer: b) on 

 

Q20. Identify the correctly punctuated sentence: 

a) I, like chocolate. 

b) I like, chocolate. 

c) I like chocolate. 

d) I like chocolate, 

Answer: c) I like chocolate. 

 

Answer Key: 

General Awareness 

1. c) Mahatma Gandhi 

2. c) Ottawa 

3. a) Lok Sabha and Rajya Sabha 

4. a) Indira Gandhi 

5. c) Brazil 

General Intelligence 

6. b) 81 

7. a) NPVI 

8. a) 24 

9. a) 64 

10. a) South-East 

Quantitative Aptitude 

11. a) 24 cm² 

12. b) 50 km/h 



13. a) 15 and 10 

14. a) Rs. 400 

15. b) 4 

English Language 

16. b) Active 

17. b) She doesn’t like tea. 

18. d) letter 

19. b) on 

20. c) I like chocolate. 
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